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Prove each identity using the space on the following pages.

a) sin(x + y) = sinx cosy + cos x siny

C) sin(2x) = 2sin x cos x

e) cotfd —tan 6 = 2 cot(20)

g) sinxsecx = tanx

=secd

I) secf—-1
1—cosf

2xcos?x

k) 1-sin

- = tan*x + tan®x + 1
COos™ X

m) cot 6 —tan 8 = 2 cot(26)

) 2tanx
1+tan2x

= sin(2x)
q) cos* x — sin* x = cos(2x)

s) cos(2x) = 2cos?x — 1

cos(2x)+1
) sin(2x) = cotx

b) tan(x _ y) _ tanx—tany

l+tanxtany

d) cos(2x) = cos? x — sin® x

in(20)
f) @O _ ore
) 1—cos(260)
) 1-sinx _ cosx
Ccos X 1+sinx

) sinx—cos x sinx+cosx

- = Secx CcsCcx
cosx sinx

) cos(2x)+1

sin(2x) = cotx

n) (sinx + cos x)? = 1 + sin(2x)

p) sin(g+x) + sin(g—x) =+/2cosx
r) csc(2x) + cot(2x) = cotx

t) sin (32—”— x) = —CoSX

V) cotx + tan x = 2 csc(2x)


















